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Note:- Write your Roll No. in space provided. Over writing, curting, using of lead pencil will result
in loss of marks. All questions are to be attempted.
- tA) Tick ( ¥ ) the right choice of the following undertined words from Book IT (Modern Prose

and Heroes Part I): (03)
11 Tris very, very rare event indeed,
(&) Always thi Fregueps iy Seldom (4} Often
2)  And guailing from it at the st poment.
(a} Happy i Covragecus ici Heing held {d) Frighitened
o3} Toomorth Africi, he Bavely escaped assasdnation
(a} Murder ihy Defeat iv) Hunger (@) Slavery
(B) Tick { ¥ b othe riohy e of the following esderlined words Trom Book 1T (Modern Prose
and Herves Purt — I3 (03)
* 4} The heat was incredible,
{a) Ordinary i) Unbelicvable {¢) Reasémable (d) Certain
5) He had a pacalstic steoke,
(a) Healthy (b} Energetic (Y Active (i} Palsied
6} A covgress o) delegales to represent free tirkey.
(a) Workers ih; Envovs (£ Muessengers {d} Passengers
{€) Tiek | ¥ ¥ the vight choice ofghe fdllowingmmd. rlived words from the novel Good bye
Mu. Chips. (04)
7y About oence in ten times he@as adapant.
(a) Docile i) Solt t¢] True {d) Resolute
8} 1In 1913, Chips had beonchitis.
(a) Maluria {hy Tuphoid i) Fever {d) Discase of lungs
9 Ard th&anssher cume o hril! treble,
ta) Low Viaiee ihy Murmer {t) High Pitched Voice (dj Whisper
10} With antiun iy gales rating the windows,
fa) (lbsing {hy Opening ic) Palishing {d) Clattering
(Ep, Filbin the following blasks with appropriate prepositions. IRY
Y Bife iz dear ceeemcevreronean everyons, {for, to, by, at}
12} This pen is inferior ~ --meeemm——e- that, {from , in , to , on)
13} He is mindful ~=sem—meecemm e eamciimeeen his duty, {to ,on, at, of)
14) Never sneer the poor. (om , al , to ,in)
15) This pond aboondg - cmeememmemees fish. {in , with , at , an)

{E} Fouwr optioms a, b, ¢ and d are given at the end of every sentence. Ouly one of them is
correct, You are required to tick ( “!} the right chaoice, tH3)
16} She was bathing herself in the poel.
{a) She was bathing himself in the pool.  {b)She was bathing yoursclfin the pool.
{¢) She was bathing themselves in the poe). {d} She was bathing in the pool.
173 Why he ate bread?

{a) Why does he eat bread? {b) Why does he eats bread?
(¢) Why did he eat hread? {d} Why do he eat bread?
18) Horse is a faithful animal.
{a) Horse is the faithful animal. (b) The horse is a faithful animal.
{2} The horse ts the faithful animal. (d) The horse is faithful animal.
19} She is ton happy.
() Sheis very happy. (b} She is much happy.
te) She is very very happy. {dy She is oo very huppsy.
i His hairs are curly.
tay  His hair are curly th His havivs is curly.
{cy  His hair is curly, vl His hairs were curls.
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i- (A} Tick (¥ ) the right chaice of the following underlined words from Book I (Modern Prose

and Heroes Part 1) {03)
11y Tt was a dismal expericnee.
{a) Tough {(h Fasy ie) Soft {d} Disappointing
1) Mao's famouns maxim: “Rely on yaiir own forees™.
(a) Principal (h) Saying (¢ Rule (d) Statement
a 3) Tt started in simple organisms.
{a} Food {b) Parts (e Living things () Flawers
(B} Tick ( v} the tight choice of the following guderlined words ffem Book 1T (Modern Prose
and Heroes Parit - I1). {03)
4)  Who discovered Lysozyme?
() Alexander Fleming (h) Lonis Pasteur
{c) Sir Wincton Churchifl (d)/David Daiches
£)  Whe ordered Mustafa Kamal fo returs to Constaulinople?
{a) Mehmet (b) Patrick Pringlé ()05 F. Lamb {d) Stephcn Leacock

#6) T had scarcely passed my twelfth birdiday when T ¢ntered the inhospitable
regions of examinations.

(a) Sorrowfually (h) Sadly {i) Hardly (d) Unfriendly
(C) Tick { ¥ ) the right chiigeofdlafllav ing wndedined werds from the novel Good bye
Mr. Chips. (i)
27) Roars of kanghter and tumulruots chieers.
{a) Light {1 Tmpressed % Depressed (d} Loud and noisy
8) Every weekendsoute of them motored up to Brpekficld and called at his house,
() By ity Travel ¢y Jamp {d) Reach
9)  Across thekoad behind a rampart of ancient elms lay Brookfield.
(aj " Lagest ik Old {r} Stone wall {d) Mountain
10} Actually e nodided and stumbled an.
ta) Climbed ih) Jumped {v) Fell while walking (d} Cry
(D). Fill in the followmg blanks with appropriate prepositions. (U5)
11) You always rémain angry -------m-w=s--=-= me, {om , at , with . about;
12) I am anXions —meme-——-ecscmmm——- my father. {on , for, to . in)
13} I am angry ——-----semeemammm-———- your behaviour. {ar ., with , about . for)
14) You should avail -—-——— - - the opporiunity. {to . ijov, of ,with)
15) She was amazed —weser—nmne -- his courage. (#l.on , to, by)
(Fy Four options a, b, ¢ and d are given at the end of every seutence. Ouly une uf thum is
correct. You are required to tick { \ ) the righi choice. s
16} 1 could not help without weep.
(2) I could not help without weeping. (b) T eould not help weeping without
(¢} T could not helping without weep. (d) T enuld not help weeping.
17} 1 have many works fo do.
{a} Thave much work to do. () T have the much work to do
¢¢) T have much working to do. (d) I have many workings ol
18) One should do his duty.
{n) Cue should doing kis duty. {hy One should doing his Jutic-.
() One should do the duty. () One should do one’s <y
19) T have two dozens eggs.
{a) I have the two dozens eggs. {b) I lhavea two dosen vau-
{c) [have the two dozen eggs. (d) T have two dozen cags,
21 Nane of thesye two men is Blind.
() Neither of these two men is blind. () Netther of the Do e Llind,
ey Neither of two men is blind. gy Neither of the twe e is L.
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TIME

: 2:30 Hours (SUBJECTIVE PART)
SECTION 1

2- Write short answers (in 3 — 5 lines) of any Six questions from Book - II
_____{Modern prose and Heroes Part-1). (12)
i | Why is there ne life on the stars? D | What is the sanitary condition of our cities
, (The Dying Sun) o | today? (using the scientific method)
| di ; How can a mistaken ambition he a iv | What did the waiter experience on Monday
I cause of the failure of the students? ' morning? (End of Term)

.1 AWhy Boys Fail in College) -
v | What kinds of books were presented vi y Wiy did the writer go to British Muscum?

to the troops by the public? {on | | {The Man who was a Hospital)
destroving books) |

|
— | | S T S
vii | How did the manager react when he ‘ viii | What is the working schedule for Industrial
|

{Tix | What do the stories of Robin Hood tell

learnt that the writer wanted to - workers? (China’s way to Progress).
deposit only fifty six dollars? (My .

_Financial car eer)

us? (Hunger and population Explosion) | _.j__ .

3)  Write short answers (in 3 - 5 lines) of any Six questions from Book T

__(Modern Prose and Heroes Part—1I1). (12)
i | Why does Churchill prefer F“nhsh to | ii ]—(Jne af iiea of the size of Sahara as
other languages? M com l:-::lal.&'o Britain, (Hitch-Iiking Across
i jii | What technique did they use to drive F_ v, | What do you know about the eurl\ fife Gf
the heavy truck in the trackless desert »  Alesander Fleming?
with its soft sand? (Hitch-Hiking
| Across the Sahara) I e s ’ : ]
v | How is penicillin better than othef,.  : i . How did Pasteur discover the treatment of i
- | chemical antiseptics? » ! cattle discase, Anthrax? enaae |
vii | What was the attitude of the Tuvkish | viii ' What was reason of the failure of
government towards thed@llies after * Mehmat's Plan?
| | the world war 1?

4)  Write short ansiers (in' 345 lines) of .nu tht questmn-z in words of ymlr own

{\!mcl Good bye Mr. Chips) (16)
| What type ¢ peaple did Brookfield | §i | Write a brief note on Mr, Wetherby.
+ | School produce? e

m How_did Mr. €hips serve his | iv | Why did Katherine like Mr. Chips?
CStudents? .

!
r
-t
F

___, " Brookfield School? # | memories?

v Haw mueh popular was Katherine in | vi Why could Mr. éll.:lli_]ﬁ”n‘t;th;rite his

What did Mr. Chips say to Faulkner? | viii | Why didn’t Mr. Chips and Ralston like
# | cach other?

ix’ | What tvpe of person Mr. Chatteris x | How did Brookfield serve England during
* | was? # | the World War-1? e
xi_ | What dn you know ahout Mr. Chips’ | xii | What was Mr. Chips thinking when he was
@ | will? . __* | onthe death bed?
SECTION 11
Write an essay (300 — 400) words on any ONE of the following fopics: (15)
{i) What I want to be? (i) Uses of Internet
{(iii)e Co-Education (iv)  Water Crisis
Use any Five of the following idioms/phrasal in sentences of your own: (10)
{i) Crocodile tears (ii}* A white elephant (iii) To end in smoke
(ivaurn down (v)* Cut a sorry figure (vi)" Royal road
(vii) On the horns of a dilemma (viii} Bear out
Translate the following passage into English. (15)
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Alternate question in lieu of Urdu passage.
Candidates, whose medium of Examination is English/foreign candidates will
write a paragraph on "Role of Information Technology (IT) in the Progress

of Country” g Bl (15)



